MVAL of associated tracks (recoToSim) vs. track P, MVAL1 of non-associated tracks (recoToSim) vs. track P,

1_ """""""" P ' """""""" - L H H +

AT g 0.4 o A I
0.8f 8T - HH+ ----- ' '

SR 02
-+ : : : B : : :
T o
O oo +++ 31 X
’ : : + 5 —0.2[= e N SRR 1 S
+ . : : +
0.2py e
¥ | oaftt e
T N - A
-+ ] FE S
—0.2F e oo e TR O o+
[ 1 ] S S
B + - B
—0. 4] b Tt SO0 I, O + B
B 1 111111l 1 |||||||| 1 |||||||| 1 (N NN —1_| """""""""""""""""""""""
i : DeT 4 : e T | B [JRE4 J0
Dy . FOATTIIT . PO rCT || .
r -.-'.'-0-,_._ -0-"'-0-.-.?.- +
r : : '+' FY 0.8
e . ] g% +
C 0.6[----meeev-: +..
C . . : L4

0 : : .
107 1 10 102 10° 107!

—=— DQM_DisplacedSUSY__mkFit_BDT_

—— DQM_DisplacedSUSY__ mkFit_

moo ]

4

il

0.8

0.6

A0 IS SNTHR RS T e o

0.4

e e e

e

|
o
~

]

C

|
o
~

1

Iqll.IIII.IIII.IIII.IIII.IIII

HE

7
=1
T
-

d
°-
O

1.5pwenee mr

0.5

LI L B
b
 »
*
&
Y
o —— v
— T
o
Py
L
d
&

Py

|
w

|
N

|
=
o
=
N
w




	Contents
	Page 1


